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PART-A : STATISTICS FOR ECONOMICS |
o ¢ GERTS AR ARG

1. (a) Statistics deals with only quantitative data. (True/False)-
sifRoieay Rew @t Sepere AR RoR T (39/99%)
() What do you mean by statistical enquiry ?

S(RAIRIF SeprEe e & 38

(¢ What is primary data ?
2hielfSie oy 2
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°
(d) Find out mode from the following data :
Coly OUR S I [y =0 2

2,.8,5 2,2, 75,2

() Whal do‘you mean by zero correlation ?
I TS e & T
(..t What is a project?

ooy 2

2. Write tlbo importance of the study of statistics in ‘economics.' '
- SR s Rem s g owg Bl
OR /&%
What do you mean b& economic ;md non-economic activities '?.

QA Wi SH-wtA e W—ﬁﬂ@ e & geire

3. State two advantages of classification of data.

O (ATBIER 757 AR oy |

4. Mention two sources of secondary data.

T O/ 757 By T 3|

5. What is arithmetic mean ? Write its one advantage. -

IS Wy /e TR by 7Ry ﬁwl
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What is range ? Calculate range from the following data :

6.
SR R wol ©AR o S Refa =0 8
46 57 28 65 8 61 58
7. What do you mean by consumer price index number ? 2
2i® T PR e & @i
8. State four characteristics of a good average. 4
<ot s G 1R e
2+2=4 '

9. Find out mean deviation from the following data :.
oI OUR 79l 5 Rpfs Fef ¢
25 20 18 15 23 17 24

OR / &%l

Statc two merits and two demerits of standard deviation.

T Reew 757 8 Wi 75 crr Tt

10. What do you mean by positive and negative correlation ? Write two
' ' 2+2=4

characteristics of co-efficient of correlation.

aﬂﬁﬁfﬁm$2WW%$VE§W@f§%nﬁﬁ$§§n?ﬂmﬁﬂmi@qw$agﬁ#tﬂﬁérﬁknl

~11. State two uses and two liyitations of index number. 2+2=4
o< R 75 IRRR WF 75 Aot Tl |
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OR / 533f

Calculate' price relatives from the following data taking 2010 as the base
yecar: '

2010 b75 fSfeqy Roww A wots fa 92 1 Siesifins v Ry 3047 ¢

Year 399 : 2010 2011 2012 2013
Price W : 70 8 35 20

12. Mention the steps in preparing a project. . - | 4

451 o%H o coFR WWWWI

13. State an advantage of a diagram. Point out a difference between diagram and

graph. Expenditure of a family in different heads in a year is as follows :
o 1+1+4=6

maﬁrqﬁmﬁmﬁawmaﬁm@wﬁvﬁﬁmmmwﬁh :
Prome Rt 495 were fimr e ¢

|Heads of Expenditure Expenditure (in Rs)
w51 Frem < (5To)
'Food 3 - . 200
Clothes IR | . | 120
House rent &l 150
‘Electricity Rige | | 30
Miécellaneous eI 100

Represent the above data with the help of a pie-diagram.

8T O b} ARfoaT AT A 9 |
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OR / wedl

What is sampling ? Discuss sampling and non-sampling errors.

ﬁmﬁ?mWwﬁm@WWW|

14. Calculate quartile deviation from the following data : 1+5=6
vl B o[l bgde RpfS ot =t 8
Roll No. @& &R : 1 2 3 4 5 6 7
Marks % . 20 28 -40 12 30 15 50°
OR / &%l

What is index number? Discuss the stéps in constructing index number.

753 A B2 5 T AR, ACFITR S 34|

PART-B : INDIAN ECONOMIC DEVELOPMENT

Yot 3 SO SAfeF T
15. (@) Define Planning. 1
sifRemIT et |
() What was the main source of livelihood in India at the pre-
independence period ? 1
2ARF-FITTOR FS SR G AU B & =i ?
() - What do you mean by seasonal unemployment? 1
ai'g@ﬁ'\a ﬁa?{af {%ﬁ i I©ne
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16.

17.

18.

19.

20.

21.

(d) Name a financial institution that supplies industrial finance in India.

. | 1
OREIS i e @i i @bt R s am )

(e) What is environment ? ' 1
ol e o

(/ When was the First Five-year Plan commenced in India ? 1

RIS 21w w2 stfiew ofonl we et

What is mixed economy? Do you think that it is frultful to an under-
developed country ? ' , 2

i SIS o ammmmiwqﬁwwv

Name two employment generatlon programmes adopted by the Govemment
of India. 2

IS SR et 31 79 e R oA A Bl

Give two arguments for new economic reforms. | . 2
T AT eI AeITE 75 IR
Give two arguments against privatisation. | )

IS Rerm, 7o I )
Write two causes of rapid growth of population in India.

Ww\mmm@smﬁqu|

Give two examples of non-renewable'resouln'ce.

ORI g 757 Swreet o |
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22.

23.

24,

25.

26.

27.

Statc four problems of human capital formation in India.

OROS W[ LA o1 50 TP forat |

OR / G411

Discuss the role of education in economic development of a c‘ommunity.

4o GIfeT WAAST Tae FsFid Girel el 1|

State two advantages and two disadvantages of liberalisation. - 2+42=4

w‘w 1B A o 75 SRl %mn

What do you mean by rural development ? Mention two SubJCCtS related to
- 2+42=4

rural development.

21 BFE Joicel [ ol oy SAERS Tl wive 7bf Raw S 4|

OR /&33!

Mecntion four causes of environmental polution.'
AR AR 515! I Tme 9

Write lwo causes of poverty in India. Suggest o measures to remove
2+2=4

povertly in India.

RIS TRTOR WWﬁMIWWﬁWW«W g&rom*fwaml

Point out four indicators of human development of a country.. 4
@I G4 (PR N SR 51! R (R T
Discuss the role of agriculture in economic development of India. 6
SReAEe QAo BRIe PRY el ST B
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28.

OR /&34t

Discuss thc common objectives of five-year planning of India.

| SIRSIFY AwIFS WMWWW|

Discuss the 'non—institutional sources which supply rural credit in India.
. . . 6 .

SIReRES oy el Gl A1 S BT A |

OR/WW»

- Discuss the relevance of mfrastructure in developing the socio- -€Conomic

aspccts of a country.

@2 mwﬂwm%'ﬁ*mﬁmmwmﬁa eAprcPIS! S 11
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